Solutions to Chapter 1-Chapter Test.notebook October 12, 2012
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Multiple. (hoice
1. Which Qoxﬁ\jt{:ﬁLWe about the PTDCJ.U.C,JI' o€ three
odd in%cgﬁ..rs Seems most reasonable
"

+ N — . :
O‘P“HOF} = L 14+ wWillbe an odd lﬁ‘\?ESEJ‘r.

2. Which conjecture about the interior cmales
In 0 hexagon Seems most reasonable?

n 1

G.P-‘Ll-.l'oﬁ = T‘Rﬁ:ir SUM S QK‘M&\IS 120°
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3. R{}iﬁ@aﬁ“ﬁ“har noticed +he followinag -

- 132432)= 6! 176 , 432 432D =393120, 435 432.733 264
1 - 13

and 72172 = 24596 , 172 172=15652,,172 172 =13 244
-1 [ 15

Which Conjecture might p\gm*?eg+her make
from +his'evidence ? S+HiS reasonable ?

I I

Op+1'0h =2 rjﬂ An\; Six-diqit number
'~ composed of three repﬂm+1‘n8
diSH-S (s divisible by 7,11,
and 1. N es,+his IS reasonable.

4 Which -G.Suret IS @ Countrerexample To +he
Qeﬁde_c*ruve, CAN polygons With e _\Cj‘s“\‘\‘ quja\
Sides Ore veoulox \CfCﬁr-::lc:\‘QﬁS" ?

S S

|

Cp'ﬁ—ioh e HSUTQ A Qﬁ\ﬂ .
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S. Which cholce prc)\fides ) Cmuﬁ+trexampi€
To +he chﬁjﬁ;c“rure "When You divide one
whoele number by anothetr wWhole number,
e guotient wWill” be %rtc:d*ﬁir Hhon The
divisdt and \ess +haw the dividend ! ?

- T /éi‘d’idﬁﬁd
Qpﬂ*fc}ﬁ:‘? 1 o = Q_;I’:") but T‘]C}—\"%—:\*—"_f
%'\ cu-m"i'ie,rﬁ'

divisor
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6. Al Kangaroos are marsupials- Al
marsuptal$ are mommals . Al mammals
are warm- blooded . Ginger Jack is Q
Kanaaroo. Whot can be-deduced about
Gir\gar Jack ? ~
OP+1'OH =7 ) A" Ginager Jack (s

- Warth—Plooded and a
PAaMma .

T. What 4+ pe ot Ereor, V4 any ,, Occurs in
e —?&\Jowing deduction ’3

"All people Who work do so from 9 a.m.

‘o - | wWith one hour for lunch.

B\ Works, So he works Trom Qa.m.

1

Fo O pm.

} i

|
OP"F\'Qh => A A false Qasumpﬂoﬁ

-l Siﬁam‘xim-‘rmn .
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3. A hat JF\}PG.:_’ ot €rrovr, Ty ANy, OCCUrs
n The ?é\lomjiﬂg proof ?

Suppoaﬁ’. +haot . a+bh=c¢
Then . (Ao-3)+ (4b3p)= Ee-3c)
Rac:)r anize . Hda+lih-Hc= Sa +3b-3cC
Using” Distribution: 4o+ = S(a+rb-c)
" A=
11 11
QD"‘F&'OH =y AN crror in reasoning -
| (division bl') 0)
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A. Detrecrmine +he unknown +erm in ecach

PQH.TE'{“T“\.

o) 3,12,4%, 192 lce 307212 288
AR A I\ (A

xt x4 x4 X 4 X 4 x

Remember .

0, 100, 20, 4. _15=,<_§}

b) 12500) 2500, =
A T\ Ao
=5 -5 -5 =5 =5

a

¢) 14,283,586, 112,225 448 396.
Al Al A da A A
X2 x2. x2 X2 X 2 X2
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0. Which number shou \d

Qo TN cach square of

rhis Sudoku puzzle?

o) square A=_1_
D) Square R=_5 _
b sl :

c) squoare C=_6&
R ' ’

i)

e

G ) dquore ==
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:DOUOM &é‘fﬁc Qr dt‘suétc:: with the followin
Conjectures ? SasTify Your decisions with
X a counterexample 1+ bodsible.
-c_ﬂ The sum of a multiple of S and amultiple
OofF 19 will be an odd number.

T discoree wWith this Cﬁﬁ\jﬁ(:“\‘u‘rﬁ..
(ouotetexample s 10 +30 = 40
v 0 Y
TREERS  EVEN
D) The sum of a multiple of S andamultiple
of 19 Wi\l be an even number.

L disagree with s conyecture -
@uﬁ-\—er xample s 13 + 6O ="13
L %

. ODD
£+
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2. 1nhis equotion, X is on iﬁﬂ‘&'ﬂsc‘r_ Whotdoes
‘he cequation prove ? Support Jour answer
WitTh a Speci€ic example.

% 4+ 0o 1)+ (Xr2) 4 (X34 (v 4) +0arS)+ (X4 6) = Tx+21
i s B
TE X represents any Whole number then
This ﬁ%.xcﬁ*f@ﬁ proves Hhat +he sSum o
Seven Consecutive numbers 1s divisible

bﬁ 1.
xample & 1+2+3+4+5+6+71= 2%
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1'3. Do \Jou agree or diaqgrea W i+h The -ﬁ::\lowma
Conjecture ? maﬁ'{:j Your decision with
O counterexample 15 pPossible.

"Forensic Scientists will always discover
chough evidence to Convict +he quiltty
perstn, because that is What happens
on felevision.

i dx'f‘sq ree With Thi's C@m\jac—\—ure-
(cunterExample s lelevision shows are
not Alwaoys realistic.
Ad a real-lT1Ffe Crime
Scene ,There mmight not
be encuah evidence fo
Prove —‘r\-\_cﬁr Somecone \S aa_u&j
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4. Form o conclusion based on the followin |
Statrement. Explain Whether JJour reasonthq
Was induchtive or deductive. -

"AlWl marsupials have p@uchcs."
b Kamgqroos are marsuplals !

@i%w Kanqqrc}c)s have pouches.
) |

ﬁ\) c EEK_}.C‘.I' W\ Ff,. aﬁ’JSC‘T | ‘f‘;q_

19, (onvinue +he Stwehcﬁ S, 14H,23,32, 4. ..
b\; TwWo Terms. EXD ain wWhether yyour
Ceq 6{‘_\,?‘;1{2“‘13 was inductive or deductive.

51H.23.32.41. 580 59 =>Toduck
v\]_ﬂ;‘ \3_07] ) J___..____}_“u-__.#.-. — uc ‘\r’ﬂ
ya 39 ¥9 5% N9 N3 Reasoning
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